Question no.1 is compulsory

Solve any 3 questions out of remaining

.

Assume data wherever necessary and clearly mq;it:i

.

L=

Draw neat figures as required.

¥ Answer any 4 of the following. s

a. Explain Doublet and define the strength of doublet. -

Explain Hydraulic coefficients. - B

State & Prove Pascal's Law - - .. = .

Define the terms: Velocity potential function;
Explain Rotameter and Pitot tube: "+
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M, State Bemqulli?%_ihﬁotém for-s
Derive an expression for-Bernoulli’s fhe
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b. Two larg ain éisu? S &
with glycerin. Find what force is requir
between the two' surfaces ata speed o

5

e horizontal pl

‘-;.._I"afc (i) if the plate is equidistance
! s mm from one of the surfaces. Take
the dynamie viscosity of elyeetin equal (3804 x 10" Ns/m.

3o sa A circular plat
&0 diameter 1.5 m , isg

surface are 4'm and 1.5 m respectively. Determine the total
[ the center.of pressure on one face of the plate.

f*¥essel cﬁﬁiaiﬁs-iivater upto a height of 2.0m and over the water
iS air having pressure 8.829 N/cm? above atmospheric pressure. At

Page 1 0f 2

A6F5D93FOCSCFDF3A3CBIDC440F04865

10

10



4, a. If for a two dimensional potential flow, the velocity potentigl g\lﬁ :
@ = 4x (3y — 4), determine the velocity at the point (2, 3 rmi%l also the
value of stream function ¥ at the point (2,3). : ;

b. A 20 x 10 em venturimeter is provided in the e
of specific gravity 0.8, the flow being upwards. The'
throat section and entrance section of ventunmﬁt)
tube mercury manometer shows a gauge deﬂe‘c '
discharge of Ol] and (ii) the pressure d:ffer;

5 g Show that a cylinder buoy of‘"hitrn “Jd{amcter and 3:m: on
kN will not float vertically in sea water ofdenStty 1030 kg/m®,

b. A rectangular channel 2.0 m wide has a dsschr
measured by a right angled V notch weir. Find
notch from the bed of the chanﬂehf‘maximum' '

1.3m. Take C¢= 0.62, = & :

c. Explain ﬂc’w:past.a’Rank %6?@__

6. a. Water 1s ﬂdwmg m a rectarxg'l‘

_over the- cres{ cif Wél_r Tsz 5.1
Cd=0:60: Neglect énd con

- it is rotated about its vertical axis. Find the speed of
o spills; and (11) axial depth is zero.
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